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PART A: Structure

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes the blank. Then
mark the correct choice on your answer sheet.

1- The way Hymes seeks to account for that fact is -------—--- communicative competence,
which ““is dependent upon both (tacit) knowledge and (ability for) use.”
1) posited the concept of 2) by positing the concept of
3) the concept of which 1s posited 4) that for the concept posited being
2-  Closely associated with ---------- the capacity to interpret target language utterances as
intended.
1) is the opportunity and interaction
2) the opportunity for interaction
3) the opportunity and interaction are
4) the opportunity to interact is
3- The term affective factors stands for several variables that characterize learner

disposition, ---------- attitudes and motivation.
1) the most important of which are 2) of which the most important is
3) the most important of them are 4) of whose the most important being
4- Even today, ---------- all of the talk about teacher empowerment through teacher
reflection, we still see a general lack of respect for the craft knowledge of teachers.
1) but 2) no matter 3) with 4) regardless
5-  Not only do students walk into schools with expectations and assumptions formed as a
result of life experiences but ---------- .
1) so do their teachers 2) also their teachers
3) their teachers do also 4) their teachers also

6- Over time vapid added a broader, more figurative connotation to describe anything
---------- zest and spirit.
1) that lacks in 2) in which 1s lacking
3) which in it lacks 4) that is lacking in
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PART B: Written Expression

Directions: Choose the word or phrase (1), (2), (3), or (4) that must be changed for the
sentence to be correct. Then mark the correct choice on your answer sheet.

7-  The scientist touted the value of interdisciplinary approach for environmental studies,
1
arguing such an approach was of paramount importance in promoting
2 3
environmental literacy among students.
4
8-  This all started on a Saturday morning in May, one of those warm spring’s days that
1 2 3
smell like clean linen.
4
9-  Any civilized human being in this nineteenth century should not be aware

1
that the earth traveled round the sun appeared to me to be such an extraordinary fact

2 3
that I could hardly realize it.
4
10-  Although talking while gesturing with one’s hands was once considered undesirable,
2
researchers hawel now found that wusing gestures during conversation makes
3
thinking and speaking more easily for many people.
4

11- By incorporating Pueblo figures into her strongly geometric and abstract works
1
the Pueblo artist Helen Hardin has had a significant impact on  the  country’s
2 3 4

contemporary Native art.

12- Beliefs established early on in life are resistant to change even to the face of
1 2 3

contradictory evidence.
4

PART C: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes the blank. Then
mark the correct choice on your answer sheet.

13- Even after he was caught red-handed, Brian still thought his ---------- would be believed.
1) remunerations 2) predilections 3) breaches 4) mendacities
14- The ---=------ of the two families, who were neighbors for over twenty years, led to some

close friendships as well as a few disagreements.
1) propinquity 2) gratuity 3) bipartisanship 4) constituency
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15-

16-

18-

19-

20-

21-

22-

Those who show ---------- during their prison terms--especially when under review by a
parole board—often get shortened sentences.

1) gallantry 2) contrition 3) detachment 4) culpability
Justin’s constant belching at the table was clearly ---------- , but he believed such
behavior was normal for a teenager.

1) decorous 2) gauche 3) condescending  4) disingenuous
However strong the store may be, nothing would be really ---------- , and the stores would
be most tempting targets for any wrongdoer.

1) ineffectual 2) impending 3) impregnable 4) immaterial
Emergency situations such as this call for immediate action and leave no room to ---------

over options.

1) deliberate 2) prevaricate 3) aggrieve 4) tamper

It is logical to conclude that an increase in fuel prices will ---------- a decrease in gas
purchases.

1) conflate 2) accentuate 3) devolve 4) actuate

The chef, with a mere flick of the salt shaker, turned the bland tomato soup into a
---------- meal.

1) profuse 2) pedestrian 3) piquant 4) savvy

A flood of sound poured forth, running swiftly upward in ---------- and slowly falling as it
died away

1) volatility 2) crescendo 3) quintessence 4) resurgence

All weapons are strictly prohibited from the stadium, from small knives to ---------- devices.
1) palpable 2) flammable 3) covert 4) incendiary

PART D: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

In asking about the origins of human language, we first have to make clear what the
question is. The question is not how languages gradually developed over time into the
languages of the world today. (23) ---------- , 1t 18 how the human species developed
over time so that we—and not our closest relatives, the chimpanzees and bonobos—
became capable of using language.

And what an (24) - development this was! No other natural communication
system is like human language. Human language can express thoughts on an unlimited
number of topics (the weather, the war, the past, the future, mathematics, gossip, fairy
tales, how to fix the sink...). It can be used not just to convey information, but to
(25) ---------- information (questions) and to give orders. Unlike any other animal
communication system, it contains an expression for negation—what is not the case.
Every human language has a vocabulary of tens of thousands of words, (26) ----------
from several dozen speech sounds. Speakers can build an unlimited number of phrases
and sentences out of words plus a smallish collection of prefixes and suffixes, and the
meanings of sentences are built from the meanings of the individual words. What is
still more remarkable is that every typically-developing child learns the whole system
from hearing others (27) ---------- it.

Animal communication systems, in contrast, typically have at most a few dozen
distinct calls, and they are used only to communicate (28) ---------- issues such as food,
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23-
24-
25-
26-
27-
28-

danger, threat, or reconciliation. Many of the sorts of meanings conveyed by
chimpanzee communication have counterparts in human ‘body language’. (29) ---------
(such as some songbirds and some whales), the meanings of the combinations are not
made up of the meanings of the parts (though there are many species that have not
been studied yet). And the attempts to teach apes some version of human language,
while fascinating, have produced only (30) ---------- results. So the properties of
human language are unique in the natural world.

1) Yet 2) Whereas 3) Rather 4) Tt not so

1) oracular 2) antiquated 3) immutable 4) amazing

1) pose 3) solicit 3) disseminate 4) succor

1) built up 2) is built up 3) and built up 4) to be built up
1) use 2) to use 3) by using 4) and use

1) requisite 2) immediate 3) mediocre 4) Instinctive

1) Animals using combinations of calls

2) To use combinations of calls, animals

3) By the use of combinations of calls, animals

4) For animals that use combinations of calls

1) onerous 2) unobtainable 3) rudimentary 4) unequivocal

PART E: Reading Comprehension

Directions: Read the following two passages and decide which choice (1), (2), (3), or (4) best
answers each question. Then mark the correct choice on your answer sheet.

PASSAGE I:

In another study that involved Flint for real-time coding, trained observers watched
eleven foreign language teachers who had been identified as outstanding by their
former students, as well as eleven typical foreign language teachers. The observers did
not know that some teachers had been identified as outstanding and others as typical.
Each teacher was observed teaching four different lessons: (1) grammar, (2) reading
skills, (3) some sort of new material, and (4) a lesson based entirely on the teacher’s
choice.

When Moskowitz (1976) compared the results, she found eighty-five statistically
significant differences in the coded behavior of the outstanding and typical teachers.
Several contrasts were observed in three out of the four lessons coded. These included
the fact that the outstanding teachers and their students used more of the target
language than did the typical teachers and their students. There was also less off-task
talk in the lessons taught by the outstanding foreign language teachers. There were
more personalized questions as well as more praise and joking in the outstanding
teachers’ classes. In addition, the coding of nonverbal behaviors showed that the
teachers identified as outstanding walked around more and looked at most of their
students more often than did the typical teachers.

These findings were intriguing and the research methods Moskowitz used were
appropriate at the time. But while these sorts of investigations were informative, they
were problematic in the sense that the results of real-time coding could never be
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31-

32-

33-

34-

35-

checked against the original classroom interaction data, nor could the actual utterances
be analyzed. And unless there were two observers present during the lessons, it was
not possible to compute inter coder agreement.

Which of the following best describes the function of paragraph 2 in relation to paragraph 1?

1) Modification 2) Interpretation 3) Elaboration 4) Justification
All of the following is stated about the teachers observed in this study EXCEPT that
they ---------- :

1) selected the class session they preferred to be observed

2) knew whether they were outstanding or just typical

3) had been divided into two groups

4) taught EFL learners

Which of the following does the word “These” in paragraph 2 refer to?

1) results 2) contrasts 3) lessons 4) teachers

There is sufficient information in the passage to answer which of the following

questions?

1) How reliable was the evaluation the students made of their teachers?

2) Why was the same number of outstanding and typical teachers selected for
observation?

3) What pre-existing differences did the students in the control and treatment group
seem to have at the onset of the study?

4) Why did Moskowitz most probably ascribe the differences found between the
teaching dynamics of the groups of the teachers studied?

Which of the following best describes the author’s attitude towards the results reported

by Moskowitz?

1) Wholehearted endorsement 2) Resigned acceptance
3) Studied neutrality 4) Qualified approbation
PASSAGE 2:

What thinking person has not wondered about the relationship between thought and
language? When we express a thought in language, do we start with a fully formed
idea and then “translate” it into a string of words? Or is the thought not fully formed
until the string of words is assembled? In the former view, it should be possible to
think even if we did not have language. In the latter view, thought completely depends
on, and is not distinct from, language. Here we argue that data from human cognitive
neuroscience provide a crisp and clear answer to this age-old question about the
relationship between thought and language.

One might argue that we already know the answer, from the simple fact that myriad
forms of complex cognition and behavior are evident in nonhuman animals who lack
language, a form chimpanzees and bonobos to marine mammals and birds. On the
other hand, intuition and evidence suggest that human thought encompasses many
cognitive abilities that are not present in animals (in anything like their human form),
from arithmetic to music to the ability to infer what another person is thinking. Are
these sophisticated cognitive abilities, then, dependent on language? Here we use two
methods from cognitive neuroscience to ask whether complex quintessentially human
thought is distinct from, and possible without, language.
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36-

37-

39-

40-

The first method is functional magnetic resonance imaging (fMRI), which can be
used to ask whether language and thought are distinct in the brain. If a brain region
supports both linguistic processing, and, say, musical processing, then it should be
active during both. If, on the other hand, a brain region selectively supports linguistic
processing, then it should be active when people process language, and much less so,
or not at all, when they listen to music. The second method relies on individuals with
global aphasia due to brain damage, enabling us to ask whether damage to the
language system affects performance on various kinds of thought. If the language
system—or some of its components—are critical for performing arithmetic or
appreciating music, then damage to these brain regions should lead to deficits in these
abilities. If, on the other hand, the language system is not necessary for nonlinguistic
forms of thought, then focal damage to the language system should only affect
language comprehension and/or production, leaving intact performance on
nonlinguistic tasks.

What is the author’s main purpose in asking the questions at the beginning of paragraph 1?

1) To represent two different views towards a controversial phenomenon

2) To use them as a hook to pave the ground for the main topic to be introduced

3) To implicitly provide his response by making the questions act like rhetorical ones

4) To demonstrate the fact that questions related to language seem not to have categorical
answers

The author argues that the fact that myriad forms of complex cognition and behavior

are evident in nonhuman animals who lack language ---------- i

1) implies that higher levels of cognition may not act independently of linguistic
knowledge

2) suggests that there are not simple answers to complicated questions of language use

3) is yet another reason why use of analogy in drawing conclusions is sophistry

4) seems to suggest that thought does not rely on language

What is the primary purpose of paragraph 3?

1) It introduces some means to use to try to find a solution to an enigma.

2) It supplies an answer to an age-old question by resorting to technology.

3) It compares and contrasts two methodologies copiously used in prior research on
thought processing.

4) It cautions against drawing conclusions without due attention to research tools now
available to researchers in interdisciplinary projects.

Which of the following does the word “it” in paragraph 3 refer to?

1) linguistic processing 2) musical processing

3) brain region 4) language

The passage support which of the following conclusions?

1) There are people who can first think and then find words for their linguistic
expression.

2) Those with aphasia are likely to experience deficits in performing arithmetic or
appreciating music.

3) Nonhuman animals not capable of complex cognitive processing possess no
language of any sort.

4) The ability to perform arithmetic and the ability to appreciate music are managed by
different brain regions.
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Linguistics

41- What is called the branch of linguistics referring to the analysis and classification of the
phonological factors which affect the appearance of morphemes?
1) morphophonemics 2) phonotactics
3) morphotactics 4) morphosyntax
42- In which of the following sentences can we identify syncretism?
1) He considered them guilty/ He considered them to be guilty.
2) He never speaks Spanish/ He has never spoken Spanish.
3) He gave a bag to them/ He gave them a bag.
4) He killed them/ He was killed by them.
43- Which one of the following terms is used for ‘“the audible breath which may accompany
a sound’s articulation, as when certain types of plosive consonant are released”?

1) contour tone 2) aspiration 3) affricate 4) morphosyntax
44- Which kind of consonants cannot be found in Persian?

1) pharyngeal plosives 2) voiced nasals

3) alveo-palatal fricatives 4) lateral liquids

45- Which of the following terms refers to a type of intrusion, where an extra sound has
been inserted initially in a word?
1) anaptyxis 2) metathesis 3) prosthesis 4) parenthesis
46- A condition, sometimes caused by brain damage, where a patient receives a signal but
cannot recognize or classify it, is called:
1) agnosia 2) anxiety 3) agrammatism 4) aprosodia
47- What is meant by “DEPRIVATION” in psycholinguistics?
1) The decline of competence in a language over time, usually as the result of contact
with another language.
2) Lack of access to linguistic input in the early years of life, especially in the period
up to puberty.
3) A reduction in the number of factors which the older person’s working memory can
handle during time.
4) Difficulty in retaining the information necessary for handling pronoun reference or
negative sentences.
48- In the Cooperative Principle, the Maxim of Quality enjoins speakers to:
1) say only what they believe to be true.
2) provide the appropriate amount of data.
3) be relevant or stick to the exact point.
4) put things plainly, without ambiguity.
49-  Which of the following is one of the proposed design features that characterizes a human

language?

1) presupposition 2) transformation 3) entailment 4) displacement
50- In a dialect continuum, the variety that is most prestigious is called:

1) mesolect 2) basilect 3) acrolect 4) idiolect
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